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1. BOIDSEXFEOEIEREERERT

(Bfi : BAM)

| snxaE | omesm | su3EE | sRsEE | SUsEE

& = 1N Eo 12,308 11,476 10,822 14,423 10,660
& = ) ity 2,731 2,356 2,569 2,515 2,858
5 H O R £ 2,261 2,012 2,238 2,154 2,582
H £ S 40,771 40,771 40,771 40,771 40,771
(B & 0O #% ) (8,154F0) (8,154F0) (8,154+F0) (8,154F0) (8,154F0)
i & FEE 2 84,968 85,563 81,564 75,807 79,677
® & P & 1,712,807 1,671,283 1,660,679 1,647,700 1,629,248
I £ £ B 5 1,463,895 1,424,073 1,400,760 1,365,198 1,348,321
E B £ % 5 132,249 141,480 142,936 141,200 145,512
B i F E S 367,579 394,402 410,276 397,004 413,139
FlREhk 8 & 8 1,370 1,220 1,420 1,320 1,420
- EBHER S 188 138 138 138 138
- BREEHER S 282 282 282 282 282
cEEXNERSE 900 800 1,000 900 1,000
i =1 # 95A LN 91TA 90A 2N
BAHREHCEARLKE 14.52% 15.03% 15.14% 15.20% 15.50%
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g & & B N % 3,909 3,806 A 102
® 7 B 5| &F N & 58 58 0
= DMt =FEE N X 501 643 141
=z = M8 M =® 4,469 4,508 39
(ExHAM=EXER) (0.28) (0.29) 0.01
GE) 1. ESERNZ =R (B HEZER-SROETERRSER)
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5. FEPFER=FFBAR EEREEFI%E X 100
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4. EEERINZOAER (841 : B, %)
S 4EFE S5 EFE
T E %S

B & & H B & | 1,577,674 9,536 0.60 | 1,566,139 9,186 0.59
S5 JElFE 942,211 4,450 0.47 924,407 4,066 0.44
> 5 BifiEES 418,263 4,151 0.99 403,399 4,144 1.03
> 5HE 136,301 865 0.64 133,229 905 0.68

& & i ZF B & | 1,558,974 5,626 0.36 | 1,546,225 5,379 0.35
556 Ire - i 1,401,414 5,610 0.40 | 1,366,920 5,361 0.39
S5 EEMITE 5,577 1 0.03 4,643 0 0.01
>5 A% 22,563 - 0.00 16,553 = 0.00

wE £ M P - - 0.11 = — 0.12
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